H £ 0l & AF & S

Al A

20258 20ila eI AHE AP A
SH AT
Y qoiDH N L e
el EESE gl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AHEE TS A 34,927,548 41,587,739 26,660,191
= 2,129,551
[ 701,176
ES 300,000
< 31,796,821
AHESE g & 2e) 3,358,250 8,318,450 24,960,200
CEIE 42 3,358,250 8,318,450 24,960,200
CEEE 2gXE 14,450 14,450 0
202 04| 14,450 14,450 0
01 =LHO LI 14,450 14,450 0
OLg3d gf=d 14,450
NHSHEH - 0|BAIE ZE(SESE) (HEAIY) 1,018,700 1,500,000 A481,300
202 04l 9,700 10,800 AT1,100
01 =LHNHI 9,700 10,800 1,100
OMSHEN - 0ISAE &g HRFA 9,700
401 Al HIZ S 0HYI 1,009,000 1,489,200 480,200
01 A28l 1,000,000 1,460,850 460,850
OXNGSEEN - 0|EAE =4 1,000,000
02 2/l 9,000 28,350 219,350
OXstdE2d - 0IZAIE =4 9,000
CEIE g & 2l 2,325,100 6,804,000 24,478,900
101 @124H| 278,000 276,000 2,000
M IIRINZENSES 278,000 276,000 2,000
OSE3& JIZHMZ2 X+ 12| 242,000
OZ 3 JIZHMZZ2 X A (LAIAR) 36,000
201 et 3| 380,000 360,000 20,000
01 At22t2l] 160,000 160,000 0
OB 2CINRa 2 160,000
2 35244l 220,000 200,000 20,000
OS2 2ACINRx 2E 220,000
202 04l 5,000 9,000 24,000
01 =LHAHI 5,000 9,000 24,000
OFESd A3l g4 5,000
206 M=l 6,000 6,000
01 M=4l 6,000 6,000
O 2CIANRA 28 6,000
207 AR 250,000 200,000 50,000
01 H7ESHI 250,000 200,000 50,000
OU=EACESE NATRZAL S 250,000
401 Al HIZL 01| 1,397,900 5,938,000 4,540,100
01 Al&HI 1,381,400 5,920,000 4,538,600
OFesd A3 800,000
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A ARITEOIRA
XM A2USIAEE
;F?_—i: /:Fgliz??/\l/é S (Gt H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
= 3,500
=S 1,500
01 2LHoIH 5,000 5,000 0
OSTHHF % 22l 88Xl A 0] 5,000
= 3,500
< 1,500
401 Al HIZ S OHbI 61,800 90,238 A\28,438
= 43,260
= 18,540
01 AlZ8| 61,244 89,430 N28,186
OS X 61,244
= 42,871
= 18,373
03 Al 2CHYI 556 808 VAVZISY
OSAMH N=B= 556
= 389
& 167
SAHHF & 22l sZohd 48,000 66,000 18,000
= 24,000
= 24,000
401 AIEHIZ R OHYI 48,000 66,000 18,000
= 24,000
= 24,000
01 Al&HI 46,504 65,406 A 18,902
OslE=d ZMEAE 46,504
= 23,252
== 23,252
02 Zeltl 1,496 0 1,496
Os=s=d BMHEAY Zel 1,49
= 748
= 748
SRYL & RTISA 2 74,982 144,063 69,081
101 e124d| 65,982 130,788 A64,806
M ORINZZ2NSE S 65,982 130,788 A64,806
OS8R it & 23eS4t 2| 2| 65,982
201 er23| 6,000 9,000 23,000
01 At2teltl 4,000 6,000 A2,000
OSR di& & FZets4 2] 4,000
2 55234l 2,000 3,000 A1,000
FaSL 2 2,000
206 M=l 3,000 4,275 A1,275
01 M= HI 3,000 4,275 1,275




A MRITIReIRA
R Al2ISHEEE
e /:Fgliz??/\l/é B EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| O=22sise 22l o 72 S 3,000
S3AEIH| 136,200 245,000 /108,800
= 68,100
& 68,100
101 21A4H| 105,200 175,800 70,600
= 52,600
= 52,600
04 JIZtN22 XS E 105,200 175,800 A70,600
O=IHFRIIHEES el2t| 105,200
= 52,600
= 52,600
201 er23| 26,000 47,000 221,000
= 13,000
[ 13,000
01 AtR2telHl 16,000 38,000 /22,000
OSSLHEINRI| A28 78 S 16,000
= 8,000
= 8,000
02 s3=gHl 10,000 9,000 1,000
OS 3L JIHEH 29 2el 10,000
= 5,000
= 5,000
206 M=l 2,000 16,200 14,200
= 1,000
[ 1,000
01 M=4l 2,000 16,200 14,200
O34 &4F 7Y S 2,000
= 1,000
= 1,000
405 KHaHE SH 3,000 6,000 23,000
= 1,500
= 1,500
01 AL =S F = 3,000 6,000 /3,000
O=IHHIIHEE JIHEE 7Y 3,000
= 1,500
== 1,500
S3AEIRI(=H]) 2,700 5,430 A2,730
= 2,700
201 er23 | 2,700 5,430 A2,730
= 2,700
01 AtR2te|Hl 2,700 5,430 A2,730
SSEEIHI| WFH 2,700
= 2,700




A ARITEOIRA
XM A2USIAEE
;F?_—i: /:Fgliz??/\l/é S (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SSAEII| =& 11,200 29,260 18,060
101 @124H| 11,200 29,260 18,060
M ORNZZE2NSE S 11,200 29,260 /18,060
O=s8EIRI| 28NE =2 S 11,200
dEANEE 29 € 2l 276,912 193,000 83,912
101 @1A4H| 246,912 160,000 86,912
04 JIZtNZ22 XS 2+ 246,912 160,000 86,912
OaEAIEE 22| 21| 246,912
201 2= 17,000 15,500 1,500
01 At22t2l] 7,000 5,500 1,500
OdEANEE 225 7Y 7,000
2 35244l 10,000 10,000 0
OdENEY 532 S 10,000
202 04t 3,000 3,000
01 =LHOHI 3,000 3,000
OdEANEd g7 =8 3,000
206 M=H| 10,000 14,500 4,500
01 M=8l 10,000 14,500 24,500
O&EANEE EZX e & 2l I 7Y 10,000
=== N 112,214 170,984 ABB, 770
101 @124H| 106,714 162,984 N\56,270
M ORIMZZ2NSE S 106,714 162,984 156,270
OtsdEZ0Ta A 12| 106,714
201 Let=23 | 4,500 7,300 22,800
01 At2teltl 3,000 5,200 A2,200
OU=H2U LN 28 228 7128 S 3,000
02 S3=gHl 1,500 2,100 A600
Otts=d20ga st 2g2telh| 1,500
202 04| 1,000 700 300
01 =LHO LI 1,000 700 300
Odat=0lgyt & gt 2& 01 1,000
SEAEHA 2E & 29 39,500 5,000 34,500
= 15,800
< 23,700
201 er2 3| 2,500 0 2,500
= 1,000
S 1,500
01 AtR2t2lHl 2,500 0 2,500
O4tE eI EH] e 2,500
= 1,000
= 1,500
405 AHAHE S 37,000 5,000 32,000
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2A:
X XH -
o e

=aak

Jo
Of

SA - BB - SRI(SIH) - KISAKY - A HIm=S2t
= 14,800
T 22,200
01 ML =SEFSHI 37,000 5,000 32,000
Odt=2 &SHEYl 2L 37,000
- 14,800
T 22,200
CREY MHIIAHE =8 2,500 2,500
401 AlEHIZLS0HY| 2,500 2,500
01 Al&HI 2,500 2,500
OuteddIA = =8 2,500
SAIEAT DBt 765,013 829,506 264,493
= 146,022
T 618,991
AR AR 75,500 107,887 A32,387
101 2124 d| 23,000 45,387 AP2,387
M IIRHMZ2Z2 RS2+ 23,000 45,387 N22,387
QKA AM-EEX a 23,000
201 LBt2AY| 23,500 23,500
01 AR2teld| 19,500 19,500
O#XF L2t L AIRESE 2 S 19,500
2 S=29| 4,000 4,000 0
OdAE HHISX S 4,000
206 =6l 6,000 6,000
01 =Yl 6,000 6,000
OQre AT 2e| X+ 6,000
207 AR LI 3,000 3,000
03 AlE 24| 3,000 3,000
Ot HEAT 24F 3,000
401 AlEHIZLS0HY| 20,000 20,000
01 Al&HI 20,000 20,000
OotE= HA AtEHl S 20,000
MEZ2 ZZ4LMH 2= 2 S 30,000 29,694 306
101 2124d| 23,000 22,694 306
M IIRINZ2Z2XsSEs 23,000 22,694 306
OxXZAM AMEIEX 23,000
206 =8l 7,000 7,000
01 =l 7,000 7,000
O=dAM AMEEX 7,000
=2 TEE Y Sas FAA 14,200 14,200
101 2124t 5,100 5,100
M IIZHNZ2 2 NS Es 5,100 5,100
OXgEsH7 AEX 5,100




A ARITEOIRA
Hm: NRBADE
CHol: QUIQIAIBIOIR P A (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 7,500 7,500
01 2LHoIH 7,500 7,500
OXNEEsSAT ZAGH| 7,500
206 M=l 1,600 1,600
01 M=4l 1,600 1,600
OXSEZsAH? AEXl 2l A 1,600
AXH THEH & D101 HY 24,800 24,494 306
101 ©1AH| 23,000 22,694 306
M ORNZZ2NSE S 23,000 22,694 306
O4Hl E X2l el 23,000
206 M=l 1,800 1,800
01 MZH| 1,800 1,800
Ot =2 & 22l 1,800
JI=dEset FHof MEASS HSAMY 64,000 64,000 0
101 @124H| 45,000 45,387 A387
MU IRNZZ2NSE 45,000 45,387 A387
OJ|=83 FHAMBMESSE TAH 12| 45,000
201 et 3| 12,900 11,500 1,400
01 AtR2te|Hl 10,600 9,700 900
OJI=H3 FAMBEAMES HEMNE X
i s 8,500
OJ|=83l HUMSAMES U= 2,100
2 s5=34l 2,300 1,800 500
OJ|=83 FHYMSMEE HSAE Xt
==l 2,300
202 04| 6,100 7,113 1,013
01 =LHOHI 6,100 7,113 21,013
OJ|=83t HAMHAMES AL 6,100
23 2= & 4ol galls ofeg 66,679 72,853 26,174
201 er2 3| 10,000 10,000 0
01 At2teltl 10,000 10,000 0
OYAL 22X 2 S 10,000
202 04t 9,853 9,853
01 =LHOHI 9,853 9,853
OZ2HAl 2l 0Bl 9,853
401 AlZHIZ SO 46,826 53,000 N6,174
01 AlZ28| 42,126 48,300 26,174
LA =4 42,126
02 2l 3,700 3,700 0
O =4 el 3,700
03 Al 2 CHHI 1,000 1,000 0
OgHA &4 20 1,000




A ARITEOIRA
Hm: NRBADE
TPl QIAIEOIT D|BHEA (69 =)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
SLIRTHESYE A 26,962 26,511 451
= 18,873
= 8,089
101 el t| 20,962 26,511 Ab,549
= 14,673
= 6,289
M I1RIMZ2Z2XSE 20,962 26,511 A5,549
OWEZLIHERA S 20,962
= 14,673
& 6,289
202 04d| 6,000 0 6,000
= 4,200
= 1,800
1 U AL 6,000 0 6,000
OM& s 2o A 6,000
= 4,200
= 1,800
SELRERE 24 60,000 60,000 0
= 30,000
& 30,000
101 @124l 24,064 26,064 A2,000
= 12,032
& 12,032
M IIZtHZ224sSE 24,064 26,064 A2,000
OAIE AL A3 24,064
= 12,032
= 12,032
201 Ler2 | 12,368 12,368 0
= 6,184
& 6,184
01 At 2elt] 8,000 8,000 0
OXtxtdl s 8,000
= 4,000
& 4,000
02 E2324H| 4,368 4,368 0
Oxg 27 S) 4,368
= 2,184
= 2,184
202 o4t 14,568 14,568 0
= 7,284
& 7,284
01 =LHO4 L] 14,568 14,568 0
OuURgEIA2E 2 oZE ol 14,568




A ARITEOIRA
M pARlEEE
TPl QIAIEOIT D|BHEA (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 7,284
=S 7,284
308 AHXIEMSOIH 9,000 7,000 2,000
= 4,500
< 4,500
18 SIS0t AS A 9,000 7,000 2,000
OL=REA 24 9,000
= 4,500
= 4,500
oGS A 90,000 60,000 30,000
= 45,000
=S 45,000
101 @124H| 7,368 7,368 0
= 3,684
== 3,684
MU IIRINZZENSES 7,368 7,368 0
OB AlIEaE A 7,368
= 3,684
& 3,684
201 et 3| 72,000 42,000 30,000
= 36,000
= 36,000
01 At2t2lt] 64,000 34,000 30,000
Ot it S 16,000
= 8,000
s 8,000
OAlgZ24Hl S 48,000
= 24,000
= 24,000
02 s3=gHl 8,000 8,000 0
Ox&FAHI(RF S) 8,000
= 4,000
= 4,000
202 04| 10,632 10,632 0
= 5,316
[ 5,316
01 =LHOHI 10,632 10,632 0
OdgaliE GlZ 0bl 10,632
= 5,316
= 5,316
AHHNSUMEH(Z ) 101,400 97,618 3,782
= 50,700
= 50,700
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A ARITEOIRA
Hm: NRBADE
CHol: QUIQIAIBIOIR P A (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 101,400 97,618 3,782
= 50,700
== 50,700
MU IIRIMZZENSES 101,400 97,618 3,782
OdtEHZ I 2] 101,400
= 50,700
& 50,700
SEEHSLME(X2) 2,898 2,89 AT
= 1,449
= 1,449
405 AHAHE S 2,898 2,89 A1
= 1,449
=S 1,449
01 It =S F = 2,898 2,89 A
OXtHFHSHI(MZEE S) 2,898
= 1,449
[ 1,449
MEHHHSLME () 15,370 12,000 3,370
101 21AH| 15,370 12,000 3,370
04 JIZtN2Z2XNSE+ 16,370 12,000 3,370
OuteEoi s =& 15,370
HAUSE SA 89,886 114,250 N\24,364
101 @124H| 66,636 89,000 N22,364
M ORINZZ2NSE S 66,636 89,000 N22,364
OXZSE &4 2l ARY 66,636
201 er2&| 9,250 9,250
01 At2teltl 5,950 5,950
O=4)| gXtg S 5,950
02 S3=gHl 3,300 3,300 0
OM2MEL RAEs+ S 3,300
202 04| 7,000 7,000
01 =LHOLI 7,000 7,000
O3A= 88 XA S 7,000
206 M=l 7,000 9,000 22,000
01 MHZH| 7,000 9,000 /2,000
OgUR AISE WL ALK 7 S 7,000
UEE IESE & USS SHAIE 39,868 38,362 1,506
101 @12A4H| 33,568 32,062 1,506
04 JIZtN22 XS 2+ 33,568 32,062 1,506
O MZS g & 2| 2= 33,568
206 M=l 3,600 3,600
01 M= HI 3,600 3,600

_10_




A ARITEOIRA
Hm: NRBADE
‘3%;2 ‘;EAIZ@? Jlgtxd EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
O3AI= el It 7Y S 3,600
207 A0 2,700 2,700
03 AlZ &I 2,700 2,700
(OINI=F=ESENIPNIN IS 2,700
FUSR AIE2E AIE 13,600 13,600 0
101 e124d| 8,000 8,000
04 JIRHNIZ2Z2XSE+ 8,000 8,000
A HIYOIRA 22| AAME eIy 8,000
201 Zet2 & 2,000 2,000
02 3224l 2,000 2,000
O2RAIE 22 S 2,000
207 A0 3,600 3,600
03 AlZ &I 3,600 3,600
OANEE &Ml 78 = 3,600
A0LE & THEH AT AFEX =4 & H0|8 2= 26,800 19,200 7,600
101 eI24d| 5,000 5,000 0
04 JRHNZ2Z2XSE+ 5,000 5,000 0
OAE EX LAIAISE 18R 5,000
206 MH=H| 1,800 1,800
01 M=4l 1,800 1,800
OAIEXl el XMt S 1,800
405 KHHH SH 20,000 12,400 7,600
01 ML ESHSHI 20,000 12,400 7,600
OADIE AIAE BHI HS 20,000
S5 ST Mg & dijs ¢ 23,050 30,400 AT,350
101 e124d| 5,000 22,300 A17,300
04 JIRHNZ2Z2XSE+ 5,000 22,300 17,300
OAEEX 212 5,000
201 ZEeH2& ] 4,000 0 4,000
01 AtR2telbl 4,000 0 4,000
OSFUR 2| 425 7Y S 4,000
206 =4l 14,050 8,100 5,950
01 =4l 14,050 8,100 5,950
OAIE T & e 2 S 14,050
SAAEES 2l 2,063,423 2,850,001 AT86,578
= 147,612
= 1,915,811
A AAIOIH 240,000 0 240,000
201 =3 240,000 0 240,000
01 AFS2t2ltl 240,000 0 240,000
OLEIAATA(2A) A0 240,000

_11_




A ARITEOIRA
M pARlEAEE
Hel: SAEE 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Arztel & J1sHst 45,000 45,000
201 er23 | 45,000 45,000
01 At2teltl 45,000 45,000
OutdotdgAae| S 45,000
CRa2C 9,000 19,000 10,000
202 048l 9,000 9,000 0
01 2L AL 9,000 9,000 0
O=FMa 2| 29 9,000
ANEE 22 366,200 636,267 270,067
101 e124d| 36,000 25,067 10,933
M ORNZZ2NSE S 36,000 25,067 10,933
OFAH 2 & AY 22 36,000
201 er23 | 224,200 279,000 A54,800
01 At2teltl 10,000 27,000 217,000
OAlggel RA=8 12 S 10,000
02 S3=gHl 214,200 252,000 A37,800
Ogzdl & Ald2te| =X 214,200
206 M=l 6,000 6,000
01 M= HI 6,000 6,000
OAlg2tel X+ 6,000
401 Al HIZL 201 100,000 300,000 A.200,000
01 Al&H| 100,000 300,000 200,000
OAlE=E E= 100,000
AL 43,888 455,690 A411,802
101 @124H| 7,888 7,690 198
MU IIRINZZE2NSES 7,888 7,690 198
ogzzeld 7,888
401 AlZHIZ SO 36,000 444,731 A408,731
01 A28l 36,000 433,963 A397,963
OgEE=s 36,000
AHsetegEzd 608,005 636,855 A\28,850
101 @124H| 367,170 368,215 8,955
M ORNZZ2NSE S 367,170 368,215 8,955
OXMHFZE JIZHHZ2 24 2124H| 367,170
201 Zet=E] 224,235 224,235
01 At2teltl 109,835 109,835
OXtF el Ald2eH(A2E L HISH
o) 109,835
02 s3=gHl 114,400 114,400 0
OXE2y Alg2elHIOE ¥ SXK) 114,400
206 MH=H| 5,000 9,405 A4,405
01 MHZH| 5,000 9,406 N4,405

_12_




A MRITIReIRA
M pARlEAEE
Rl SLALEE 2el (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXMgZ2E AlE M 5,000
305 =S 5,000 5,000
01 =S 5,000 5,000
Ol A0 M2 Eoitial= 5,000
405 AtaHE = 6,600 40,000 A\33,400
01 T ESFISHI 6,600 40,000 /33,400
OXisds =578 6,600
AEMHIAC RO (=M 2t2lQl) 2SR (HEALY) 60,000 54,176 5,824
101 @124H| 60,000 54,176 5,824
M ORIMZZ2NSE S 60,000 54,176 5,824
Ot MHIAC O (=ME 22l 2l) 60,000
SMENHIAZROI(ME22(Q) 2SR A0 2 6,150 6,000 150
25
101 @124H| 6,150 6,000 150
04 JIZtN22 XS 2+ 6,150 6,000 150
O MHIAC 0l (=dE 22lel) d0S
Y g 6,150
TAANE 23 2el 193,973 57,99 135,977
101 e124d| 90,828 23,99% 66,832
M ORNZZ2NSE S 90,828 23,9% 66,832
Oodtgstsa 22| 21| 24,176
Oglz4 2l 22| 24,176
Os=0ts 2l 22| 24,176
OXdistsus2dg 22| 18,300
201 223 58,945 34,000 24,945
01 AtR2t2lt] 26,945 12,000 14,945
Odtdegr=2t 2 12,000
Oogl=d 212 3,825
Os=0ts 2l 6,120
OXdistsus 29 5,000
2 S52g4l 32,000 22,000 10,000
Odtgdegr=2t 212 22,000
Os=0ts 2l 10,000
206 M=l 44,200 44,200
01 MZH| 44,200 44,200
Ogl=d 212 17,100
Os=0ts Mz7Y 17,100
OXtgstgu= 24 10,000
=3 22 264,606 0 264,606
101 @124H| 193,406 193,406
M ORIMZZ2NSE S 193,406 193,406
Osd==3 22| 21| 193,406

_13_




A ARITEOIRA
M pARlEAEE
Hel: SAEE 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 24,200 24,200
01 At2teltl 14,200 14,200
Osd=+==a 2l 14,200
02 S3=gl 10,000 0 10,000
Osd==a 2cl 10,000
202 04| 3,000 3,000
01 2LHA b 3,000 3,000
O+==3 22A8 1,000
O=Z+53 2 2,000
206 M=l 14,000 14,000
01 MZH| 14,000 14,000
O=Z+=a 2 14,000
308 AtAIEHMSOIE 30,000 30,000
18 SIS0t HAS A 30,000 30,000
Osd==a 2c| 30,000
=5@ ICUI0IH 2 (2elw) 23,964 0 23,964
= 11,982
= 11,982
101 @124H| 23,964 0 23,964
= 11,982
s 11,982
M ORINZZE2NSE S 23,964 0 23,964
O==& ZUUI0IH e12b] 23,964
= 11,982
[ 11,982
NAH A S 2H TS (M EALY) 5,160 300,000 A294,840
202 04| 5,160 5,160 0
01 2LHA b 5,160 5,160 0
Otz ety E2A 5,160
=S¢ 2COUI0IE = (22/) 3,720 0 3,720
101 @124H| 3,720 3,720
M ORIMZZ2NSE S 3,720 3,720
O==% ZCOUIOIH =2 3,720
ArEAL 193,757 0 193,757
= 135,630
< 58,127
401 AlEHIZ S 0HbI 193,757 0 193,757
= 135,630
= 58,127
01 AlZ28| 187,858 0 187,858
OHFEE A& 187,858
= 131,501




A ARITEOIRA
M pARlEAEE
Rl SLALEE 2el 9 M)
SN - BE - SRS - MRA - ol &4 e HIDEY
< 56,357
02 Zcldl 3,870 0 3,870
OHAFEH AlE 3,870
= 2,709
= 1,161
03 Al< = THHI 2,029 0 2,029
OHFEN A& 2,029
= 1,420
= 609
S Makze 155,388 136,200 19,188
CRTHARZEI(EHOH) 58,000 66,200 8,200
201 =3 49,000 47,000 2,000
01 AFS2t2ltl 40,000 40,000 0
O=F/Met2e] AIR2E 40,000
02 3224l 9,000 7,000 2,000
O=RMLt2e 332 9,000
202 04| 9,000 9,000
01 2L AL 9,000 9,000
O=sMHet2e] & 9,000
S22 FHALZ2/(EHCH 97,388 70,000 27,388
101 e124d| 27,388 0 27,388
04 JIZtN22 XS E 27,388 0 27,388
OEHRIAIR A FH AL 2 27,388
201 ZEeH2& ] 20,000 20,000
01 AtR2telbl 10,000 10,000
OFEAL AR 29d 10,000
02 S22l 10,000 10,000 0
OEA S322 10,000
401 AIZHIZ 20 50,000 50,000
01 AlZHI 50,000 50,000
OBA =AE2% 50,000
2y dE3a3F 2 5,428,817 4,877,780 551,037
= 500,248
e~ 300,000
< 4,628,569
SURTHAEYE UHRFAL S LRIAFS (EFCH) 3,593,102 3,286,997 306,105
401 AlEHIZ S 0HbI 3,593,102 3,286,997 306,105
01 AlIZHI 3,500,000 3,193,895 306,105
OaxURHEEE ! S 3,500,000
02 Zteltl 92,623 92,623 0
OaURMdsE U el 92,623
03 Al£ = THHI 479 479 0
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A ARITEOIRA
M pARlEEE
ol JRYE AEF 2L EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 169,259
=S 169,259
401 Al HIZL 01| 338,518 381,844 N43,326
= 169,259
== 169,259
01 Al&H| 314,382 354,610 A\40,228
O=2t10| 314,382
= 157,191
& 167,191
02 2/l 23,900 26,880 22,980
O=IH20| 23,900
= 11,950
= 11,950
03 Al 2CHYI 236 354 A118
O=2t301 236
= 118
[ 118
ZE (R 28,693 24,010 4,683
= 1,477
= 17,216
401 AIEHIZ R OHYI 28,693 24,010 4,683
= 1,477
= 17,216
01 Al&HI 25,693 24,010 1,683
(OEN= 25,693
= 10,277
== 15,416
02 Zeltl 3,000 0 3,000
OX8 3,000
= 1,200
= 1,800
NE3te A (EHeH) 104,084 104,085 A
= 52,042
S 52,042
401 Al HIZL 201 104,084 104,085 A
= 52,042
== 52,042
01 Al&H| 100,356 95,578 4,778
OXEEsts &4 100,356
= 50,178
< 50,178
02 Zeltl 3,000 8,315 25,315
OXNEEsg x4 3,000




A ARITEOIRA
M pARlEEE
el SoE dE3IFaL (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,500
=S 1,500
03 Al 2 0HHI 728 192 536
OXNEEss &4 728
= 364
< 364
LA (BHOH (M EHALY) 229,200 227,860 1,340
101 ©1AH| 14,700 13,360 1,340
M ORNZZ2NSE S 14,700 13,360 1,340
Oogzatel 14,700
401 Al HIZL 201 214,500 214,500
01 Al&H| 209,585 209,555
O A 209,555
02 Zeltl 4,736 4,736 0
OSE A 4,736
03 AIZSTHYI 209 209 0
OS A 209
A2 S SZAFS (B 300,000 0 300,000
EN 300,000
401 AIEHIX 20HH 300,000 0 300,000
e 300,000
01 Al&H| 293,945 0 293,945
Ott=0le S ST AL (EHR) 293,945
ES 293,945
02 2l 6,055 0 6,055
Ott20le & ST AL (EHLH) 6,055
E 6,055
AHSRX SA22I(Efer) 60,000 0 60,000
= 42,000
= 18,000
401 Al HIZL 201 60,000 0 60,000
= 42,000
s 18,000
01 Al&HI 60,000 0 60,000
OuE =R sAIZel(Efe) 60,000
= 42,000
[ 18,000
LRSSl (EFOH) 242,780 252,780 10,000
101 21AH| 45,000 45,000 0
04 JIZtN2 2N S 2+ 45,000 45,000 0
(@=L 45,000
201 2egh=3| 33,088 33,088 0
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A ARITEOIRA
M pARlEEE
el SoE dE3IFaL (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OttEHI 22X s4| 2,700
= 1,080
=S 1,620
Ott=d=tEl S 78 6,200
= 2,480
< 3,720
202 04| 400 1,400 1,000
= 160
= 240
01 =LHO LI 400 1,400 A1,000
Odat=0ley 2 detEsS 0oyl 400
= 160
=S 240
ASULHA 2= & 2(EHRH) X= 35,800 28,900 6,900
= 14,320
& 21,480
201 er=2 3| 2,600 28,900 N\26,300
= 1,040
= 1,560
02 s3=gHl 2,600 28,900 A26,300
OLEAZIAIE AXIZHAIAE SHE 2,600
= 1,040
= 1,560
401 Al HIZL 201 33,200 0 33,200
= 13,280
[ 19,920
01 Al&H| 33,200 0 33,200
Ott=2AsIAIE RAIES 33,200
= 13,280
= 19,920
Aosedy & =52 24 3,697,648 2,908,497 789,151
= 84,882
= 3,612,766
KIRHIXHA = 20 (EHRH) (M EHAL) 1,633,000 900,000 733,000
202 04l 3,000 3,000 0
01 SLHoIH 3,000 3,000 0
OXN T A S & E 3,000
401 AIZHIZL S OHE 1,630,000 897,000 733,000
01 Al&H| 1,600,000 876,400 723,600
OXIXHI A = & 1,600,000
02 Zeltl 30,000 16,500 13,500
OXIXMI A = &b 30,000




A ARITEOIRA
M pARIEAEE
ool TeisoE @ 42 2 (choy: @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
XAF el 22l (Eqet) 735,648 728,3% 7,253
101 @124H| 441,648 418,095 23,553
M ORNZZE2NSE S 441,648 418,095 23,553
OXtei s &g 2e 222,668
Ot s A 2L (LAIAA) 103,000
OXtgF iz (DE ) 115,980
201 223 220,000 220,000
01 At22t2ltl 80,000 80,000
OXtg s &g 2el 80,000
2 35234l 140,000 140,000 0
OXte s &g 2e 140,000
202 04dl 3,000 2,300 700
01 2L AL 3,000 2,300 700
OXt s g 2| 3,000
206 M=l 8,500 8,000 500
01 M= HI 8,500 8,000 500
OXtg s &g 2el 8,500
401 AlEHIZL SO 50,000 50,000
01 Al&H| 50,000 50,000
OXteZ &g 2el 50,000
405 KHaHF =4I 12,500 30,000 A17,500
01 ML ESFSHI 12,500 30,000 217,500
Olgsagae/(25+) 12,500
AEMHIAERD 2F K (Ef2) 21,096 44,556 A\23,460
= 10,548
= 10,548
101 e124d| 21,096 44,556 A\23,460
= 10,548
= 10,548
M ORIMZZ2NSE S 21,096 44,55 A\23,460
O==¥ 2ACIUI0IE 21,096
= 10,548
== 10,548
SMENBIAZR0] 2 X (EHeH) (HEALY) 60,000 54,176 5,824
101 212A4H| 60,000 54,176 5,824
04 JIZtN2Z2 XS+ 60,000 54,176 5,824
Oz 2elQl 60,000
=0HE MEHEXHEY S 28 KR (B2 90,000 90,000 0
= 45,000
= 45,000
307 elztol & 90,000 90,000 0
= 45,000
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MR A
NRlsEE
Nelgore o +2 2o (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 29,334
=S 29,334
DL THAI(EL) 250,000 250,000
401 AIEHIX S0 250,000 250,000
01 Al&H| 250,000 250,000
OotHE: =33 242 &4 250,000
g3 =29 3,131,678 4,927,126 1,795,448
NLEHSA (B (HEALY) 2,700,000 4,600,000 21,900,000
202 04| 1,000 10,000 /9,000
01 =LHOHI 1,000 10,000 29,000
OXNLEH ZEAY 1,000
401 AlEHIZL S0 2,699,000 4,590,000 A1,891,000
01 Al&H| 2,099,000 4,590,000 A\2,491,000
OXNLEH ZEA 2,009,000
02 Zeltl 600,000 0 600,000
OXgEA gAE 600,000
N o 2tel(eHet) 431,678 327,126 104,552
101 21A4H| 188,578 70,776 117,802
04 JIZtN2Z2 XS 2+ 188,578 70,776 117,802
OXgdd 2| 22X 212 160,000
OXNLEEH 2| LA 2 28,578
201 er23 | 62,000 27,050 34,950
01 At2teltl 24,000 12,750 11,250
OXNgEH 2l =25 7Y 24,000
02 S3=gl 38,000 14,300 23,700
oXNgdd s5=23 3l 38,000
206 M=H| 25,000 25,000
01 M=8l 25,000 25,000
OXgE& 2el ME 7Y 25,000
405 AHAHE S 156,100 4,300 151,800
01 AL =S F = 186,100 4,300 151,800
OXg&& 22l DI FSs 186,100
=8 Hat2eD|gtxad 1,506,314 908,708 597,606
= 701,176
< 805,138
P (2Y) 1,001,681 448,315 553,366
[ 701,176
= 300,505
202 04| 8,013 3,584 4,429
[ 5,609
= 2,404
01 =LHO LI 8,013 3,584 4,429
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A ARITEOIRA
M pARlEAEE
ool CRR! AR (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(@rdrag=i= 8,013
= 5,609
== 2,404
401 AIEHIX 20HH 993,668 444,731 548,937
=) 695,567
= 298,101
01 AlZ8| 971,665 433,963 537,702
Oz = 971,665
[ 680, 165
= 291,500
02 Zeld| 20,000 9,872 10,128
O = 20,000
= 14,000
[ 6,000
03 AIESTHYI 2,003 8% 1,107
(@Fdzul 2,003
[ 1,402
= 601
AT AIE(28)(HEAY) 486,633 442,393 44,240
101 @124H| 64,948 44,760 20,188
M ORINZZ2NSE S 64,948 44,760 20,188
Oogzel# 64,948
201 et23| 12,500 12,000 500
01 At22te|Hl 10,000 8,000 2,000
OX&E SRl S 10,000
02 S3=gHl 2,500 4,000 1,500
Oxtg Xt 7#&FbHl S 2,500
202 04| 1,311 1,122 189
01 =LHO LI 1,311 1,122 189
oz a8 s 1,311
401 AIZHIZ SO 407,874 384,511 23,363
01 Al&H| 399,846 376,630 23,216
O 158,568
OXgsx 131,000
OgEE=s 90,000
OAMEEH 20,278
02 Zeltl 7,700 7,600 100
O=ZME 3,700
HHUE 4,000
03 AIESTHYI 328 281 47
O7ZME 328
LEHHI(EE) 18,000 18,000 0
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A ARITEOIRA
M pARlEAEE
ool CRR! AR (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 18,000 18,000
01 At2teltl 18,000 18,000
OZ=&Hl 18,000
CRE M2 ES 3,553,357 3,257,074 296,283
= 558,166
= 2,995,191
ATIARY AlE(EE) 81,000 81,000 0
= 56,700
= 24,300
401 A2 HIRL R 0HbI 81,000 81,000 0
= 56,700
S 24,300
01 Al&H| 80,600 80,600 0
O&FXIArE 80,600
= 56,420
== 24,180
03 Al 2 THHI 400 400 0
O&XI AL 400
= 280
= 120
HEEE AL (EY) 193,757 193,955 2198
= 135,630
=S 88,127
202 04l 1,552 1,552 0
= 1,086
== 466
01 =LHAHI 1,552 1,552 0
OHF=2H 1,652
= 1,086
< 466
401 Al HIZ S 0HHI 192,205 192,403 A198
= 134,544
= 57,661
01 Al&H| 187,377 187,575 A198
OA=Ed 187,377
= 131,093
s 56,284
02 Zeltl 4,440 4,440 0
OH=F=2H 4,440
= 3,180
= 1,260
03 Al 20HHI 388 388 0
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A ARITEOIRA
M pARlEAEE
&elr ERE M2AelES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OH=F=2H 388
= 27
== 17
AEE AIE(28) 250,000 250,000 0
= 175,000
= 75,000
202 04| 2,000 2,000 0
= 1,400
= 600
01 =LHO LI 2,000 2,000 0
OArt e 2,000
= 1,400
=S 600
401 AIEHIX SO 248,000 248,000 0
= 173,600
S 74,400
01 AlZ2H| 242,100 242,100 0
OArg 242,100
= 169,470
= 72,630
02 2l 5,400 5,400 0
OAtE 5,400
= 3,780
== 1,620
03 Al =2 THHI 500 500 0
OArZ " 500
= 350
= 150
AETHSHE Kl EO(MSHEHSHELHE _2H) 101,904 97,618 4,286
= 50,952
= 50,952
101 @124H| 85,304 81,018 4,286
= 42,652
== 42,652
M IIRIMZZENSES 85,304 81,018 4,286
OatdHoliS0Z LM 85,304
= 42,652
< 42,652
201 fet=3| 12,100 11,600 500
= 6,050
= 6,050
01 At22t2lt] 9,500 9,000 500
Odtl=d & 224 S357Y S 9,500




A MRITIReIRA
Hm: NRBADE
&elr ERE M2AelES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 4,750
=S 4,750
2 s5=34l 2,600 2,600 0
OogNE =& 7 S 2,600
= 1,300
< 1,300
202 04| 4,000 4,000 0
= 2,000
= 2,000
01 =LHO LI 4,000 4,000 0
Ouatdgais o2 =a 4,000
= 2,000
=S 2,000
206 M=l 500 1,000 A500
= 250
& 250
01 M=4l 500 1,000 A500
OUHEHSLMEM & =7 S 78 500
= 250
= 250
S SA S LI (EE) 10,100 10,100 0
= 5,050
s 5,050
401 Al HIZL 201 10,100 10,100 0
= 5,050
[ 5,050
01 AlZH| 9,800 9,800 0
OJIEt =2EaliE M 9,800
= 4,900
= 4,900
03 Al = THHI 300 300 0
OJIEt =2dais M 300
= 150
= 150
LURTHAESE LIRFAL S A (2E) 991,600 994,600 A3,000
202 04l 3,000 0 3,000
01 =LHAHI 3,000 0 3,000
OALRMEEE HYLIRTAL S SXl 3,000
401 AIZHIX 20HH 988,600 994,600 26,000
01 AlZ2H| 927,600 974,000 N\46,400
O2LRHESE HELIRFAL S SHX 927,600
02 22/l 60,000 20,000 40,000
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A ARITEOIRA
M pARlEAEE
el ERE Ma2eE2S (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
THarze| 25 (28) 92,950 142,500 49,550
201 er23 | 50,500 72,500 22,000
01 At2teltl 28,000 50,000 A22,000
Odit=ZHl S 28,000
02 S3=gl 22,500 22,500 0
OXtg=&U & &=l 22,500
202 04| 9,450 9,450
01 =LHOHI 9,450 9,450
O=RMat2e| =4 9,450
401 Al HIZL 201 22,000 42,000 220,000
01 Al&H| 22,000 42,000 /20,000
OBME= S 22,000
405 AtatE = 11,000 18,550 AT,550
01 ML ESFSHI 11,000 18,550 AT,550
OARA BII18 78 S 11,000
XXHH RS 2d (28) (M EA) 1,000,000 500,000 500,000
401 Al HIZ R 0HbI 1,000,000 494,000 506,000
01 AlZ8| 950,000 482,000 468,000
OXsdE A& &S 950,000
02 2l 40,000 11,000 29,000
O2de zad 2d(2e) 40,000
03 Al 2 0HHI 10,000 1,000 9,000
Ot Az (2 10,000
s 2e|(28) 262,359 18,000 244,359
101 @1A4H| 140,559 0 140,559
04 JIZtNZ22 XS 2+ 140,559 0 140,559
OXtHF 2] 22| (J12H 22X 140,559
201 =3 76,800 18,000 58,800
01 At22t2lt] 50,000 5,000 45,000
OZel2s 7Y S 50,000
02 S5=2g4l 26,800 13,000 13,800
O=s2% &l S 26,800
206 M=l 5,000 5,000
01 M=4l 5,000 5,000
OXNHF Y 2el 5,000
401 Al HIZ R 0HHI 40,000 40,000
01 AlZ28| 40,000 40,000
OXisad 2el 40,000
AN SHELME =E 16,370 0 16,370
101 @124H| 16,370 16,370
M ORIMZZ2NSE S 16,370 16,370




SA AR
B pesAeE
&elr ERE M2AelES (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
|| ouaigazuzEgmy +¢ 15,370
NP 1,084,759 972,344 112,415
= 529,016
S 565,743
rE(28) 114,773 72,028 42,745
= 44,023
= 70,750
202 0t 918 864 4
= 352
LS 566
01 =LH04H 918 864 4
Oxg 918
= 352
LS 566
401 AIE2BIXL S THYI 113,856 71,164 42,691
= 43,671
= 70, 184
01 AlZHI 105,925 65,108 40,817
Oxd 105,925
= 40,630
= 65,29
02 el 7,700 5,840 1,860
Oxg 7,700
= 2,953
= 4,747
03 Al 0HHI 230 216 14
(OFEN= 230
2 &8
= 142
™ORN EE) 969,986 796,232 173,754
= 484,993
= 484,993
202 04t 7,760 6,370 1,390
= 3,880
= 3,880
01 =LH04H 7,760 6,370 1,390
O=JH20| 7,760
= 3,880
= 3,880
401 AIE2BIXL S CHYI 962,226 789,862 172,364
= 481,113
&= 481,113
01 AlZHI 883,076 733,156 149,820
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